A M . p/\p‘ WMA-W90A-150-070W-A
GEM

W90A-150-070W-A

W90A-160-070W-A

W90A-170-070W-A

W90A-170-075W-A ENG * RUS



English

wp [nstallation kit

« Acrylic bathtub (without installation kit)
purchased separately

« Metal frame (with installation kit)
purchased separately

» Front panel (with installation kit)
purchased separately

* Container with a lid
purchased separately

* Drain-overfiow for bathtub
purchased separately

+ Side panel (with installation kit)

¢ Not available to purchase

Installation
instruction
Attention! The product is delivered
in disassembled form, with separate
articles!

Attention! Installation of the ware
should be carried out by two qualified
specialists.

The dimensions on the drawings are
indicated in mm. Deviation of the actual
size of acrylic components, relative to
the declared on the drawing +/-7 mm

per 1 linear meter. Dimensions of the
room for the installation of the bathtub
should provide technological gaps +5
mm from each side of the bathtub (for
the linear expansion of plastic under
the influence of temperature/weight of
water).

& Bath installation
requirements

Installation of the bath without a frame,
as well as with a modified frame is not
allowed. The legs are used to set the
level of the bath and adjust the gap
between the bath panel and the floor.
The bathtub should be installed on all
legs of support to eliminate uneven
distribution of load and, as a result, the
appearance of micro-cracks in the body
of the bathtub.

During installation of the bath it

is recommended to avoid dirt and
construction dust on the surface of the
bath. Becaus it may lead to scratches
on the surface of the bath, during non-
professional cleaning.

In case of installation of a bathtub, or
installation near a bathtub of subjects
so that access to a bathtub for service
and repair will be limited, works on
ensuring access to the equipment are
made at the expense of the consumer!



Before using, it is necessary to connect
to the sewer (the device drain-overflow
is not included into delivery set).

To prevent moisture under the bath, the
joints between the bath and the wall
must be sealed with sanitary silicone.
Fill the bath by 34 of the volume and seal
the joints between bath and the wall
with a silicone sealant (not included in
delivery set). It is better to use sealant
that meets the properties of PH-
neutrality, colorlessness.

Attention! Sealant needs some time to
harden. It is forbidden to use item within
24 hours after installation.

In the case if installation of a bathtub or
installation near the bathtub wares in
such a way to the bath for maintenance
and repair will be limited, work to ensure
should be payed by the consumer!

English

£ Product
maintenance
Attention!
For correct operation of the system
it is required to install puriification
filters at feed pipelines with degree of
purification of 100-300 micron.

» Forthe avoidance of damage of the
surface of the product it is not allowed
to use water of temperature more
than 60°C.

» Use only mild detergents and soap for
cleaning of the item.

» Do not use corrosive washing agents or
abrasive pastes for cleaning of the item.

» Accute contamination on the surface
is reccomended to treat with diluted
vinigar and wash off with water.

» Shallow scratches (for acrylic parts
of the item) can be removed with fine
grid sandpaper (grade 2000).

Producer has a right to introduce
change of component parts that has

no effect on appearance and functional-
ity of product. All parameters indicated
in this instruction have formal meaning.
Producer reserves the right for technical
changes.



Pycckuit

|2 KoMmnnekT

WP ONA YCTAaHOBKU

+ AkpwunoBas BaHHa (63 KOMMNIEKTYHOWMX)
npuo6bperaercsa oTAENbHO

 Kapkac BaHHbl (C KOMNNEKTYOWUMM)
npuobperaercsa oTAENbHO

+ ®poHTanbHas NaHenb (C KOMMNEKTYHOLWMMIA)
npuobpertaerca oTAENbHO

* KoHTelHep ¢ KpbIWwKoM
npuo6bperaercsa oTAeNbHO

* YCTpPOMICTBO CNMBa - NepenvBa
npuobperaercsa oTAENbHO

* BoKoBas MaHesb (C KOMMIEKTYHOLLMMI)
He npopaeTcs

YKkasaHuA

MO MOHTAaXy
BHumaHune!
N3penue noctaBnseTcsa B pasobpaHHOM
BUAE, OTOENbHbIMU apTuKynamm!

BHumaHue! PekomeHayeTca c6opka
cunamu gByx KBanuuumnpoBaHHbIX
cneumnanncTos.

Pa3mepbl Ha YepTexax ykasaHbl B MM.
[onyck Ha OTK/IOHeHWe hakTU4eckoro
pa3Mepa aKpUIOBbIX KOMMIEKTYHOWMX,
OTHOCUTENbHO 3aABNEHHbIX Ha YepTexe -
+/- 7 MM Ha 1 NOroHHbIA MEeTp.

Pasmepbl noMeleHnsa nof, yCTaHOBKY
BaHHbI AOMKHbI 06ecneunBaTb TEXHONO
ruyeckuii 3asop +5 MM c Kaxpaoro 6opta
BaHHbI (AN y4eTa NMHENHbIX pacm
peHuit nnacTuka nop Bo3aencTBUEM
TeMnepaTtypbl/ Beca BOAbI).

& TpeboBaHus
NO MOHTAXy BaHH

YcTaHOBKa BaHHbI 63 KapKaca, a Takke
C BMAON3MeHeHHbIM KapKacoM He aony-
ckaeTtcs. HoxKu CNnyXaTt gna BbiCTaBne-
HWA BaHHbI MO YPOBHIO U PErYNNPOBKM
3a30pa Mexay naHesbio BaHHbI U NOJIOM.
BaHHa AO0JHKHaA onnpaTbCA Ha BCE TOYKU
onop, YTo6bl UCKAOUUTL HepaBHOMED-
HOe pacnpepneneHne Harpyskum u, Kak
cnencrteue, noaBneHNA MUKpPOTpeLWwnH
KOpnycCa BaHHbI.

B npouecce MOHTa)a BaHHbI M3beratb
nonagaHus rpssm U CTPOUTENbHOM MblK
Ha MOBEPXHOCTb BaHHbI. TO MOXET
NPWBECTU K MOSIBNEHWIO LLapanuH Ha no-
BEPXHOCTM BaHHbI, NpK Nocneaytowein
HenpodeccroHanbHol y6opke nsnenus.

B cnyyae ycTaHOBKM BaHHbI, TM60
yCTaHOBKM psif,OM C BAHHOM NpegMeToB,
TakMM 06pasom, 4TO AOCTYM K BaHHe
LNA 06CNyXMBaHNA U pEMOHTa 6yaeT
orpaHuyeH, paboTbl No obecneveHnto
JOCTyna K 060pyf0BaHNIO NPOU3BOAAT-
cA 3a cyeT noTpebutens!



Mepen Ncnonb3oBaHNMEM HEOH6X04MMO
noacoeauHUTb K KaHanusauum (ycTpoi-
CTBO CNMBa-nepenvBa He BXOAUT B
KOMMMNEKT MOCTaBKW).

Bo n3bexkaHne nonafaHus Bnaru nog,
BaHHY, WBbl MeXAy BaHHOW 1 CTEHOW
0653aTeNbHO AOMKHbI ObITb repMEeTU3N-
pPOBaHbl CAHTEXHUYECKUM CUIMKOHOM.
3anonHuTe BaHHY Ha 3 06bEMa 1
npoussegmnTe repMeTU3aLmio CTbIKOB
BaHHbI U CTEHbI C MOMOLLbIO CUNTMKOHO-
BOro repmeTurka (B KOMNAEKT MOCTaBKK
He Bx0AuT). Noka3aH repMeTuKk oTBeya-
rowmi ceoncTeam PH- HelnTpanbHOCTH,
6€eCLBETHOCTU, NPOTUBOMNECEHHOCTMU.

BHuMaHwue! Mocne c6opku TpebyeTca
LaTb BpeMA 3aTBEPLEBaHNA FrEPMETUKY.
3anpeuaetca UCNonb3oBaHWe Usnenus
B Te4eHUN 24 4acoB Nocne 3aBeplleHuns
MOHTaXHbIX paboT.

B cny4ae ycTaHOBKM BaHHbI, TM60
YCTaHOBKM PAAOM C BaHHOW NpeaMeToB,
TakuM 06pa3oMm, YTO JOCTYN K BaHHE
nns obcnyxnMBaHMa U peMoHTa byaeT
orpaHu4eH, paboTbl Mo o6ecneyeHnto
focTyna K 060pyn0BaHMIO NPOM3BOAAT-
cA 3a cyeT notpebutens!

Pycckuii

< yxopn
3a NPOAYKTOM

BHumaHwme:
[Ona npaBnibHOro PyHKUNOHUPOBa-
HWUA n3genusa HeobxoaMMa ycTaHOBKa
hUNLTPOB OYNCTKM Ha NOABOSALMNX
TPy6ONpOBOAax CO CTEMEHbIO OYNCTKM
100-300 MK.

* Bo usbexkaHne noBpexneHus no-
BEPXHOCTU U3aeNns He [onycKaeTcs
Mcnosib3oBaHWe Boabl TeMMepaTypo
6onee 60 rpagycos Lenbcus.

* Vcnonb3yite oNa O4NCTKM U3nenus
MArkme Mmowuime cpencrtea Unn Mbino.

* He ncnonb3yite ona 04UCTKM U3genus
arpeccuBHble MOKLWME CPeacTBa UK
abpasunBHble NacThbl.

* CunbHble 3arpsi3HEHNA Ha NOBEPXHO-
CTV pekoMeHayeTca o6paboTaTth pas-
6aBNeHHbIM YKCYCOM U 3aTEM CMbITb
BOLOM.

« Herny6okue wapanuHbl (415 akpunosbIix
COCTaBAAWMX U34eN1s) MOTFYT BbITb
yhaneHbl MENKO3EPHUCTOW HaXAaqyHOM
6ymaroii (3epHucTocTs 2000)

MNpoun3BoguTens UMeeT NpPaBo Ha
M3MEeHeHWe KOMMNIEeKTaLmm, He BAUA-
wee Ha BHEWHWR BUA, U (DyHKLMOHAN
npofykTa. Bce napameTpbl, ykasaHHble

B LaHHOM MHCTPYKLMKN, UMEIOT hopManb-
Hoe 3HaveHue. MponsBoanTeNnb OCTaBs-
nAeT 3a co601 NPaBO Ha TEXHUYECKMe
N3MEHeHUA.



AM-PM

Gem

W90A-150-070W-A
W90A-160-070W-A

W90A-170-070W-A
W90A-170-075W-A

ENG Bath

RUS BaHHa

150x70

Bath W90A-150-070W-A

Front panel

Metal frame
Container with a lid
150x70

BaHHa

®pOHT. NaHenb
Kapkac

KoHTeWHep ¢ KpbILWKOW

160x70

Bath

Front panel

Metal frame
Container with a lid
160x70

BaHHa

®poHT. NaHens
Kapkac

KoHTeWHep ¢ KpbILWKOW

6

W90A-150-070W-P
W90A-150-070W-R
W90A-070-070W-C

W90A-150-070W-A
W90A-150-070W-P
W90A-150-070W-R
W90A-070-070W-C

W90A-160-070W-A
W90A-160-070W-P
W90A-160-070W-R
W90A-070-070W-C

W90A-160-070W-A
W90A-160-070W-P
W90A-160-070W-R
W90A-070-070W-C

170x75

Bath

Front panel

Metal frame
Container with a lid
170x75

BaHHa

®pOHT. NaHenb
Kapkac

KoHTeWHep ¢ KpbILWKOW

170x70

Bath

Front panel

Metal frame
Container with a lid
170x70

BaHHa

®poHT. NaHenb
Kapkac

KoHTeWHep ¢ KpbILWKOW

W90A-170-075W-A
W90A-170-070W-P
W90A-170-075W-R
W90A-070-070W-C

W90A-170-075W-A
W90A-170-070W-P
W90A-170-075W-R
W90A-070-070W-C

W90A-170-070W-A
W90A-170-070W-P
W90A-170-070W-R
W90A-070-070W-C

W90A-170-070W-A
W90A-170-070W-P
W90A-170-070W-R
W90A-070-070W-C



AM-PM

55/60

350\

350\

300
700/750
573
300

1700

400
330
f

700
573
=

90
400
330
)5
<
590

300

1600

400
330
95/
2

590

wmmmmm - BbiBoA KaHanusauuu

Sewage outlets




Komnnektauus BaHHbl 150x70/160x70
Bathtub components 150x70/160x70

KoMnnekrauua kapkaca
Metal frame components

01 | bath BaHHa x1 10 | metal frame Kapkac x1
KomMnnekTauus naHenm
H 11 [ nutm12 raiika M12 x16
Front panel components
02 | front panel bpoHTanbHas naHens x1 12 | washer wanba M12 x8
KPOHLUTEVH Ans
03 | bracket for shelf Kpennenys! nanenn x2 13 |leg HOXKa NnacTukoBas x8
04 | screw 4,2x16 camopes 4,2x16 x2 14 | screw 3,9x32 camopes 3,9x32 x4
05 | screw 3,9x16 camopes 3,9x16 x2 15 | stud M12 Wwnunbka anuHHas M12 x4
X s 6okoBol hukcaTop
06 | decorative cap 3arnyLka x2 17 | wall fix kit AN CTeH X3
07 | bracket r’”‘.i)%”;igii:’;'(pa”a x2 18 | dowel 8x40 nro6enb 8x40 X6
08 | washer M12 wanba M12 x4 19 ?)I(Tgﬁ serew camopes 5x40 X6
09 | nutm12 raitka M12 x4




%

Komnnektauwns BaHHbl 170x70/170x75
Bathtub components 170x70/170x75

Komnnekrauus kapkaca
Metal frame components

01 | bath BaHHa x1 10 [ metal frame Kapkac x1
KOMI'IJ'IeKTaLI,MH naHenn 11 | nutM12 ravika M12 x16
Front panel components
washer wanba M12 X
02 | front panel (bpoHTanbHas naHenb x1 12 8
i le HOXKa NNacTukoBas X
03 [bracketforsherr | 0Crureman | g 13 |0 10
screw 3,9x32 camopes 3,9x32 X
04 | screw 4,2x16 camopes 4,2x16 x3 14 P 4
stud M12 wnuneka AnvHHas M12 X
05 | screw 3,9x16 camopes 3,9x16 x2 15 A 4
stud M12 wnunbka kopoTtkas M12 x
06 | decorative cap 3arnywka x2 16 P 2
L 6okoBo cukcaTop
e T R U] L R v x4
dowel 8x40 tobenb 8x40 X
08 | washer M12 waiica M12 x4 18 A 8
DIN571 screw
camopes 5x40 X
09 | nutM12 raiika M12 x4 19 | 540 P 8













13



14






AM.PM Europe GmbH
° Torstrasse 177 D-10115 Berlin
www.ampm-world.com 12/2019



